INSTALLATION INSTRUCTIONS AND INFORMATION

Tusk Top Rack: Suzuki V-Strom 800
Part#1580370028

Thanks for your purchase of the Tusk Top Rack. This rack is made to handle
extreme adventure riding, but works great for the commuter as well. Please
take note of the information and instructions below to get the most out of

your Tusk Top Rack.

A

() S

TS K

Assembly: Before you throw any packaging away, make sure you received all the necessary hardware:

Fitment:
2023+ Suzuki V-Strom 800 (Touring)
2023+ Suzuki V-Strom 800 DE (Adventure)

NS 0

Ve
\\\‘III}-K'/

Hardware: QTyY: Iy =

Top Rack

5/8” Spacer

M8x50mm Countersunk
Bolt M8x35mm
Countersunk Bolt M8
Fender Washer

_( !5:
M8x50mm

N N N NN

Countersunk Bolt

VI8 Nyloc NUt
Rack Installation:

1. Remove the two OEM 10mm Head Bolts from the original
rack. FIG 1

2. Set the (2) 5/8" Spacer onto the cavity where these bolts
were just removed from. FIG 2

3. Pass the (2) M8x50mm Countersunk Bolts through the
front of the Top Rack, 5/8"” Spacer, and lightly thread into
the bike. Medium strength thread locker is recommended.
Leave loose for now. FIG 3

4. Pass (2) M8x35mm Countersunk Bolts through the Top
Rack, original Top rack, M8 Fender Washer, and lightly
secure with (2) M8 Nyloc Nuts. FIG 3, 4

5. Tighten the front M8x50mm Countersunk Bolts. Finally
tighten the rear bolts and nut. Do not overtighten the rear
bolts.

Enjoy the use of your Tusk Top Rack!

_—

M8x50mm
Countersunk

,,,,,,,

M8x35mm

5/8” Spacer Countersunk Bolt
rm\.
M8 Fender M8 Nyloc
Washer Nut

| Remove Bolts [






